
6575 6575.5 6576 6576.5 6577
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

2.5

3

3.5

4

4.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

0.5−

0

0.5

1

1.5

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6592}
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6590
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6591.5

6592

6592.5

6593

6593.5

6594

ru
n

run:cyclenum {run == 6592}
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cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 6592}



6575 6575.5 6576 6576.5 6577
cyclenum

147−

146.5−

146−

145.5−

145−

us
l_

1X

usl_1X:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

96.5

97

97.5

98

98.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

56.5−

56−

55.5−

55−

54.5−

us
l_

12
X

usl_12X:cyclenum {run == 6592}
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cyclenum

6590

6590.5

6591

6591.5

6592

6592.5

6593

6593.5

6594

ru
n

run:cyclenum {run == 6592}



6575 6575.5 6576 6576.5 6577
cyclenum

160.5−

160−

159.5−

159−

158.5−us
r_

1X

usr_1X:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

23.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

229

229.5

230

230.5

231

us
r_

4e
X

usr_4eX:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

1.5−

1−

0.5−

0
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r_

4e
Y

usr_4eY:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

47.5−

47−

46.5−

46−

45.5−

us
r_

12
X

usr_12X:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

6590

6590.5

6591

6591.5

6592

6592.5

6593

6593.5

6594

ru
n

run:cyclenum {run == 6592}



6575 6575.5 6576 6576.5 6577
cyclenum

30390.6

30390.8

30391

30391.2

30391.4

30391.6

30391.8

30392

30392.2

30392.4

30392.6

30392.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

6296

6296.5

6297

6297.5

6298

us
l_

co
il3

usl_coil3:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

5824

5824.5

5825

5825.5

5826

us
l_

co
il4

usl_coil4:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

1293−

1292.5−

1292−

1291.5−

1291−

us
l_

co
il6

usl_coil6:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

22180.5

22181

22181.5

22182

22182.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

6590

6590.5

6591

6591.5

6592

6592.5

6593

6593.5

6594

ru
n

run:cyclenum {run == 6592}



6575 6575.5 6576 6576.5 6577
cyclenum

27366.5−

27366−

27365.5−

27365−

27364.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

5438.4−

5438.2−

5438−

5437.8−

5437.6−

5437.4−

5437.2−

5437−

5436.8−

5436.6−

5436.4−

5436.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

4507.5

4508

4508.5

4509

4509.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

637.4−

637.2−

637−

636.8−

636.6−

636.4−

636.2−

636−

635.8−

635.6−

635.4−

635.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

20624.5

20625

20625.5

20626

20626.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

6590

6590.5

6591

6591.5

6592

6592.5

6593

6593.5

6594

ru
n

run:cyclenum {run == 6592}



6575 6575.5 6576 6576.5 6577
cyclenum

427.4−

427.2−

427−

426.8−

426.6−

426.4−

426.2−

426−

425.8−

425.6−

425.4−

425.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

464.5−

464−

463.5−

463−

462.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

90.8−

90.6−

90.4−

90.2−

90−

89.8−

89.6−

89.4−

89.2−

89−

88.8−

88.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6592}



6575 6575.5 6576 6576.5 6577
cyclenum

177.2

177.4

177.6

177.8

178

178.2

178.4

178.6

178.8

179

179.2

179.4

4a
Y

_c
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l4

4aY_coil4:cyclenum {run == 6592}
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41.5

42

42.5

43

43.5

4a
Y

_c
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4aY_coil6:cyclenum {run == 6592}
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cyclenum

10−

9.5−

9−

8.5−

8−

4a
Y
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l7

4aY_coil7:cyclenum {run == 6592}
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cyclenum

187.5

188

188.5

189

189.5

4e
Y

_c
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l4

4eY_coil4:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

19−

18.5−

18−

17.5−

17−

4e
Y

_c
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l6

4eY_coil6:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
cyclenum

8−

7.5−

7−

6.5−

6−

4e
Y

_c
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4eY_coil7:cyclenum {run == 6592}
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239−

238.5−

238−

237.5−

237−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6592}

6575 6575.5 6576 6576.5 6577
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85.5−

85−

84.5−

84−

83.5−

12
X

_c
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l3

12X_coil3:cyclenum {run == 6592}
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2.5−

2−

1.5−

1−
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X
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12X_coil4:cyclenum {run == 6592}
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6.5

7

7.5

8

8.5
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X
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12X_coil6:cyclenum {run == 6592}
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cyclenum

415.5−
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414.5−
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413.5−

12
X

_c
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l7

12X_coil7:cyclenum {run == 6592}
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6593.5

6594

ru
n

run:cyclenum {run == 6592}
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